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S EE | % [ F 15 R E | oK 7 I
FORAHT  —TH 2,922 6,122 2,852 3,270 f5) T — T H 824 1,717 847 870
FIRARRT  —TH 723 1,501 721 780 J5) T —TH 525 1,242 616 626
FIRARRT  =TH 1,162 2,563 1,251 1,312 J5) T =TH 750 1,613 839 774
FOIRAHT YT H 2,135 3,688 1,605 2,083 L - * % 2,099 4,572 2,302 2,270
* %k /NEF Ok ok 6,942 13,874 6,429 7,445 Veoall —7TH 1,211 2,476 1,206 1,270
WD IR —TH 1,102 1,979 979 1,000 F=aalii| —TH 1,148 2,208 1,059 1,149
WD IR —TH 979 1,990 993 997 F=aalii| =TH 1,327 2,675 1,323 1,352
WD IR =TH 1,475 2,876 1,399 1,477 Veoall WA 819 1,944 972 972
HFn R I HE 671 1,458 722 736 %k /pE * % 4,505 9,303 4,560 4,743
HHFNIR T H 1,838 3,670 1,860 1,810 FEaEld —TH 958 1,928 914 1,014
k% /NEE kok 6,065 11,973 5,953 6,020 Feyars —TH 862 1,699 819 880
[ERSIEN —TH 793 1,176 592 584 Feyars =TH 1,656 2,948 1,384 1,564
[ERSIEN —TH 506 974 443 531 =IREl TH 1,076 1,766 871 895
%k /PNEF k% 1,299 2,150 1,035 1,115 %k /pE % k 4,552 8,341 3,988 4,353
JEFIR —TH 736 1,182 557 625 WEF)I| —TH 976 1,966 972 994
JCRNSR ZTH 754 1,514 744 770 HUEP) 1| —TH 669 1,607 812 795
JLFNIR =TH 554 871 443 428 HEI =TH 1,143 2,528 1,226 1,302
* sk /PNEF ko 2,044 3,567 1,744 1,823 HUEP) 1| T H 931 1,994 990 1,004
FOFNIR —TH 1,945 3,042 1,400 1,642 %k /pNE %k sk 3,719 8,095 4,000 4,095
FFN SR —TH 733 1,206 585 621 [EEsgN —TH 864 1,829 897 932
FFN SR —=TH 951 1,701 808 893 [EEsg —TH 720 1,589 739 850
FFN IR WTH 393 599 291 308 PEEF)I =TH 368 840 386 454
E T TN S O 2 4,022 6,548 3,084 3,464 PEEF)I TH 1,391 2,916 1,455 1,461
Y —TH 583 1,108 576 532 %k /NEf * 3,343 7,174 3,477 3,697
Ui iT R L= 1,553 1 762 * x 2REE * * 41,918 82,197 39,887 | 42,310
Ll =TH 1,408 2,713 1,342 1,371
Ll WTH 595 1,226 606 620
* %k /NEE k% 3,328 6,600 3,315 3,285




